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Quenfled LwWaTUHSSED.

Instructions : (1) Check the question paper for fairness of printing. . If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.

u@sd - I/PART - I
Smasg clanssErs@n ellewallssayn. 20x2=40
Answer all the questions.

1. Yearambd ds swsded n-ar wHly smems 3:12=n:48.

Find the value of ‘n" if 3:12 =n: 48.

2.  ua@inuy Csmeneu eTemmTed eretten ? (HSHGHT(H S(HS.

Define polynomial expression. Give an example.

3. B&i&s : 3y+6=15.
Solve : 3y+6=15.
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10.

11.

12,

13,

2

Epésrehm Sredlaflmbg) FTefl Snevrs.
11, 5, 6, 8, 14, 19

Find the mean for the following data -
11, 5,6, 8, 14, 10

eSleursgar UDSUILID S5 68 o7 QUNEHAT Wirenegy 7
Write the types of classification of data,

A®m svuss #flausib Ut G &6 LD,
Define isosceles trapezium,

PO BTDSTSE o penm Camemriisger WeonGw 70°, 1300, 119° GTEOTD e, Brengme.g,
Carenmd sreire
A quadrilateral has 3 angles as 70°, 130¢ and 110°. Find the fourth angje.

72 bHmub 108 E ereirsarre #flwins UGULSS W Bls Hhy 5 Bés eramr
What is the smallest 5 digit numbper that is exactly divisible by 72 and 108 »
3 wreweufsefld 729 Gy Semflg UL gdle gﬁmmmu_urrmmﬁa;m sanflg L

Um_gdle glgoewmurj)@mmi TEsmanr Cuij? "—
Out of 25 students, 72% are skilled in Maths, Find the no, of unskilled studens,

Eroumiay WOWE FHpeD YPon wab siH194s umggmrjé;asuu@é?m
LML u @8 e SdOUysemar FOIE.
Suggest some topics in Mathematics to teach by using problem based learning method,
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Seumia] eowwd SHPe Gald Aful aaupap $6l7658Hsd Gouadm@n ?
What are the things to be avoided by the teacher in problem based learning ?

varefleow &N GerLflpssamiqw wrameujseliLb @Gopeurs sraTliufib

Nggsenanaer WiTenal ?
Give few skills that are low, in potential dropout students,

seligd spssaa UTHassamigl STrelser wng ?
Give reasons which affect the Mathematics learning.

USlT semrsdlem LILeNaeT wraney ?
What are the purposes of doing Puzzles ?

sl SMHSGIL LRLTOOW - U UNESEaD.

Define ~ Communication in Mathematics.

sflwr/seupn eflenm cuensullen GDEET G)IaRTgMmETE M.
Give two demerits in alternate response (yes/nc) questions.

QewerymiFfuden Ly HlenaEar eremes ?
What are the steps in ‘Action Research’ ?
U@ - II/PART - II

aleunm Gilclflmbgid phg Aarmsamars CsIH0s
10 eemnsaEnsE eferwellssab.
Answer ten questions by selecting five questions from each Section.

(flexy-2i/SECTION - A

Bgz Cwmss

5x4=20

&@Bou HdHlaw Siflsams gwrfideb psr werdHQameamerCousiriqw @GOl &er

wirenau ?

What are the points to be remembered before preparing the family budget ?

(P +1)+(x+1) Qe mey wHPL BHows Srers.
Find the quotient and remainder of :
(P +1)+(x+1)
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23,

24.

25.

26.

27.

28.

4
Fias.
3x+2y=7
3x+ y =5
Solve :
3x+2y=7
3+ y =5

E&seTL Sreysaflenr @enL Hene TGy S TenTs,

Iﬁ]lﬁa{ @ Qeuah IO—IO ,10-20!20-30 30-40 f40-50 50 - 60

Errmrmjraaﬁdr Grsu’wenﬁémsl 2 / 7 ) 15 10 I 11 5 ]

Find the median for the following :

Class Interval ’ 0-10 }10-20;20-30 30-40,40-50 50-60,

No. of Students 2 / 7 } 15 10 ’ 11 ] SJ

Y=3x+2-6n UMTUL LD Guens;.
Draw the graph of : y=3x + 2,

AB=4 Q&f, BC=¢ C&, CD=5¢ G&8, DA=5 Qg8 DOHID AC=8 Qzf 6T6ITD
eTéy&er Gsmer ABCD GTEND BIDHETLH DADEG g6 UTLuaTeUs Snes,
Draw a quadrilatera] ABCD whose sides are AB=4 cm, BC=¢ cm, CD=5,6 cm,
DA=5cm and diagonal AC=8 cm and also find its area.

2O bIné smefier Bomp 182 5 @b, el b 4 WY& smats@yio K

Fmeflar ewenble R UGS 2_drerear erafle, smafludip Owrgsinms TEFEnaT
L 2_GTang).

One roll of ribbon is 182 m long. Sankari has four full rolls and one-third of another

roll. How many meters of ribbon does Sankari have in tota] ?
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19 fley-2y/SECTION - B 5x4=20

&M&& euangul 2 dHenw updlé @GMHLY auenrs.

Write a short note on concept mapping strategy.

Siheysry 2 sHullen Ly flanasmer aBSHssTL(HL6T clleTs@:s.
Explain the steps involved in teaching cognitive strategy.

STaumiejmwws sHo@sE Quibsaisnd’ ur, s seoal 9 @Ehs @F
THSHSETLH SHFH U Hencsener eflens@:s.

Give an example and explain the steps in problem learning in the topic ‘Algebra’.

@F Sreumie APHSESTe B@LW Dpeu QaETamiyHéEs GCeuamigu! LeRTL&ET
wmreneu ?

What are the characteristics of problem based learning ?

@@ saflall wHmb e saiuurd YHweuphar Qwrss etae T 31,000.
sexfiafludler clenar gm seaxfiliurafar afepevenw el T 29,000 flsb erefled
@ seaflafllber npmbd @@ sefliuraid dawew STAR 2 sf@emarni
vweTLHSHE serrLHls.

The total cost of a computer and a calculator is ¥ 31,000. If the cost of a computer is
¥ 29,000 more than that of a calculator, find the cost of a computer and a calculator
using STAR Strategy.

sty cussslar psdlu CErésmsdr ererer?
What are the objectives of Mathematical laboratory ?

sNGS HMSSHL LFADnS FeoL &6 Wrene ?

What are the barriers in Mathematical Communications ?

@opud Gergeeanlen Lg Hleoaser wreea ?

What are the steps involved in diagnostic tests ?
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37.

38.

6
u@d - I11/PART - 111
emeupld elennés@ré® ellenlWieldse,ylb. 2x10=20

Answer the following questions.

(D) sarfig spuSld sauar rFjLUsGEAL wra@TaUTEET WTT? Seufser
ATULBeugDESTET STTeRTRIGET WITaeU ?
{60605
() 2er awglle saflls wapsdamar ereieurg BLggeumi STEITLIGN F
eSleuflGamab.
(@) Who are the students to be given special attention during learning Mathematics ?
(at risk students). What are the reasons for the learning difficulties ?

OR
(b)  Explain how you will conduct a Mathematics Club in your class ?

(1) prenand @iy Wwrereufsedr ey sTembGung Glewubn Yepaar,
SeupBipaner Siaisar ellarsEs.
3|6V
() s0Es Coengamen arearpme eTemen ?
BhsTD wEUde gls@ib ¢m LT LLEGHSE Aags Cersmearuden
ugHaasmes Qsran® aflamigrdr geardaear sumflaseylb.
(a) Explain in detail the mistakes done by the fourth standard students and the
solutions for those mistakes.
OR

(b) What is a Unit Test ? Explain the steps involved in constructing a unit test and
construct one for any lesson in fifth standard.
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